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(i) ®dnedow=Q2 =525¢
=(51.5g 80 53.5g ¢ @z ® gonw)
i (04+01 = 05 marks)
(i) o8 Ondnma =Q1=465 g
=(45.5g 8O 47.5g entDr dzn® goen)

(05 marks)
o Ondnme =Q3=57.5 g

=(56.5g 80 58.5g ¢xdDo D@ 20w
(0S5 marks)

¢sind Ondnm odme =Q3-Ql=57.5 g—-46.5g = 11g
= (9.0g 80 &13.0g Do Don® qww=) (05 marks)

(Smm (g) oz0©B 80 8o cmey c e¢sim)

(i) 50-76/2 = 50 - 38
(00 goo (72) gdadewst eenwens ccoms’ (2) ©A8® wews, (05 marks)
=12
(05 marks)
T*H76 gow 00RO 75 BO 77 ¢i3Ds @0 ® qown eon BERS cAcon IO (-;mgoé

Cah @¢zim. (11.5 8D 12.5 ond 11 80 13 ¢afes )
(Q05(c) = 30 marks)

® 6,

(d)
a8 A8 y®rwmw JA8 OB | 8620270 (G Bwd) g0 cad wed | Sad BB yEhemw
@140 Jgad® OExT
| 31-40 2.00 6 12.00
| 41-50 3.00 14 4200
l 51-60 4.00 23 92.00
| 61-70 5.00 7 35.00 .
[ g0 8620mm0 Rs. 181.00 ~(®

30 BAD wem, BadE BO102 & (05 marks)
4 05 B0 ew, Budc BO162 (05 marks)
qOwID) Bo8 BEDGS eews (05 marks)

Sy »® eew g 1 6esTm
(Q05(d) = 15 marks)

QO05 = 150 marks

'« ) T—_— "30 20
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i) pod Goed a8 qued cre R ¢? Bed BER00 erind cdbuln.
Sopowes’ T 18 DD crenid emd eon Do
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' 1 8 gmded ©® @uidm O egms ©e88m
- gorimed o3 e oo8.
(i) oo [18 qSed» 9uidm Oiled 80D emvdes ¢?

i) 29828 @OTXN DE PR mE B O 9O Y
80GOS ewiwsiz.

(1000 [ = 1m* oce scmsls)

(iif)

[S—

1Y

ACIU D80dce = 4X%x24 = 960880 S
(05 marks) (05 marks)

DEFGH D80dEe = [%(6 +4) x 4] n [% (4 +2) % 10] — 20 + 30 = 50 D5© Smwm
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KM B¥ose = [5(325+1) X 35| - 1x3.25x0.25 = 7.44~ 0.41 =
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= 7.03 080 gm® >
(05 marks) (7 125

90 Edmedd DbovEw = 10+ 96+ (2 X 50) + (2x 7.03)+18 = 238.06 980 I
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5. R P ™
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(-2,12) cBee Onw O d8zf
12 = 4a —2b + ¢ — (1) (05 marks)

(2,12) cSew Dy On ands’
12=4a+2b+c —(2) (05 marks)

(0,16) cww Onw On Bz’
16=c —(3) (05 marks)

(MD+@) »24=8a+2c =12=4a+c

() 0623, 12=4a+16 > 4a=—-4 =a=—1 (05 marks)
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08 Heo Dped edmnoemw y = —x? +16. (05 marks)

SmFs ©dw 01
Dn® X gdew DD w@®Bw D7, b=0 (10 marks)

(0,16) clew Dmw ©n 3827

16 = c¢ (05 marks)
(-2,12) cfew ODnw O &Py
12 = 4a + 16 (05 marks)

= a = —1 (05 marks)

&8 Be Dped Bdmdwme y = —x° + 16. (05 marks)
(Q06(b) = 45 marks)

orfod 6890 = |2 (3+1) X 5| x1 =10m3
(10 marks) (05 marks) (65 marks)
441
©OTwIzIe R ©AI WE B YO T ¥@wmae=10%x2=20m3 (05 marks)
1m? = 1000
20.00m® = 20000
00 Ao QOTWID® HE VAN WmE WA 89 9O Yyeremw BOs 20000 £

(Q06(c) = 30 marks)

(0S marks)
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O0080 DO wew

2&An
8Sstime BBOO / gye e 0 DOD / A0S £800/808e [ % Any correct answer
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Bexs mos¥g eedeme (Electrolysis)
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(05 marks)

d- Yy &mo § cuwed ewd gwed BO Acw HwidOm § 05300 ;18 cO®am <0
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(Q9(a) = 20 marks)

C cneg BBOD
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=1800Nm
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e1® e 8o a8 Bwo §O 010050 @5 6D.
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(Vi) odade 95 Hwr mom edyes ace =0N
0N O 9uEd 18 Acw = vvE G AC® > (05 marks)
FQ - PP e Fe + G:K
ie. FQ—=FP+FC+FR- —> (05 marks)
Fo =1025N + 500 N + 600 N 5 (04+01 marks)
Fq =2125N -

Q8w On Hwr Sz DO =0 N :
O DY 3B e5IDE D D1300EDm = DrEIOED DOED (05 marks)

ie. Fex2m=Fcx05m+Frx3m (0S5 marks)

o

o Goo
Fex3m=Fox2m—-F:x05m
O0Be =38® A
Fr =(27S0Nx2m-500Nx 0.5 m)/3m (05 marks)

=(5500NmM-250Nm)/3m

= 1750 N (09 + 01 = 10 marks)

(Q9(b) = 110 marks)

*** Q9 () wewr BERS swm ¢5i0y grm, 09 yaded & emdes evd cdluw mS® G¢

Be30Dx wews 09(c) e20desd Com c¢ BERS eonescan e 20 @ ?q-rhn.

Boed e3:60 s Unor=5/t=3m/3s=1ms?

The vertical component can be calculated using the equation s = ut + %4at?
As the initial velocity is against the g, the equation will be s = -y, t + Ygt?

BO 9000 Uper = 1 (1/, gt? = 5)
Upor = %(1/2 X 10 x 32 - 9)

=15-3
=12ms™?

Using the equation, v2 = u.? + 2as

At the maximum height, the vertical velbcity is zero, and s against the g.
ced® cewd 8 07 = u,.? - 2gs and

PSCuD dmed 8O ¢ = (u,.)/2g

=144/20=7.2m

e®yba ¢ =(7.2+9)=16.2m
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20 110

OWwen eQDENGS

(Q3(c) = 20 marks)
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OR, @8 wdewd /yDmacewsd (‘5“"1'”
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(Q&marks)

&5 10

(88 marks)
(Q10(a) = 38 marks)
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(05 marks)
(05 marks)
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(36 marks)
(Q10(b) = 28 marks)
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